
Amazon.com/mcomboMcombo.com

WINDOW AWNING

6055-4104&4112



Pg / 01 Pg / 02

This user manual is for 6055-4104 and 6055-4112.

MCombo reserves the right to change, update any content contained herein without prior notice.

Please read, understand, and follow this user manual before assembling and using.

Save this manual for future reference. It's the responsibility of the user for potential risks of

injuries due to inappropriate use not obeying safety instructions in this manual.

Pg / 01

Arm   x2

A

Awning   x1

B

Wall Brackets   x2

D

Expansion Bolts
x8  +1

Wood screw
x8  +1

E-1 E-2

M6 Bolt Set    x6 +1

F

Part List I. Part List

C

Hand Crank   x1

MCombo®, with the mission of "bringing more convenience to family and travel 

life", the vision of "becoming the first choice and trusted brand of customers in 

outdoor series", and the core value of "providing high-quality and high-standard 

outdoor products", awakens people pay attention to the outdoor garden life itself, 

extend the time to play with family and partners in the outdoor garden, and enjoy 

a healthier and more comfortable life.



Pg / 03 Pg / 04

Tapeline Drill φ 8 Claw Hammer Cross Screwdriver Stairs

• Before you start, check the condition and quantity of all parts according to the parts list.

• Please prepare all the necessary tools.

Preparation

Part List II. Parts Exploded View Part List III. Assembly Steps

1 Install the Awning.

C

F

E-1

E-1 E-1

D

F

F

B
B

F

E-1

D

Length

Soffit Soffit

Length
Length

Length

(3). Drill holes in roof with 0.19" (4.8mm),
       diameter drill bit, depth 1.57" (40mm).

(1). Punching Distance: It is recommended to punch the holes approximately 1/4 Length from 

       the ends.

(2). When the wall bracket (#D) is mounted on the wall.
       When the wall bracket (#D) is mounted on the ceiling.

1.57"



E-1D

F

F

E-1

D

F

D
E-1

(4). Attach the wall bracket (#D) to the wall/
       ceiling through expansion bolt (#E1)/
       wood screw (#E2).

(2). Connect one end of the arm (#B) to the 
       awning by the M6 bolt set (#F).

(5). Secure and lock Awning (#A) with the 
       wall bracket (#D).
       Fastening the M6 Bolt (#F) .

2

C

Install the Arms.
(1). Hang the hand crank (#C) and lower the awning.

F

F

F
B

B

Pg / 05 Pg / 06



(2). Attach the other end of the arm (#B) to the wall by the M6 bolt set (#F).

E-1

E-1 E-1

1.8"

1.8"

Return Process

We stand behind our products and want you to be satisfied with them. We'll always do our best 

to take care of customers, and that's why we offer a straightforward, hassle-free return policy.

You have 30 days from the date of purchase to return any item purchased from our store.

Please securely pack the item in its original packaging, including any accessories or manuals 

that came with the product. To initiate a return, please contact our customer service team at 

( sales@mcombo.com / 3235971109 ) for any help.

Return Conditions

We accept the return of items that are in new, unused condition, with original tags attached 

and all original packaging and other components included. Refunds will be issued in the 

original form of payment for the price of the item, including taxes.

Part List V. Return / Replacement Policy

Notice

Why don't we recommend returning the item by yourself?

• Huge cost- UPS/FedEx oversize fee.

• Need you to take the box to UPS/FedEx facility.

Pg / 07 Pg / 08



If for any reason, we have fallen short of your expectations, or if you have any questions and 

suggests, please refer to the following contact information, we will do our best to work with you 

to make sure you are entirely satisfied.

Part List VII. MCombo Customer Support

Pg / 09 Pg / 10

sales@mcombo.com
(Respond within 24 hours)

2411 Bear Corbitt Rd STE 1 
New Castle, DE, 19720

3980 PREMIER AVE, 
MEMPHIS, TN, 38118

1-323-597-1109
8:00 a.m. - 4:00 p.m. (Monday - Friday)
TIME ZONE: PST

2808 Vail Ave
Commerce, CA, 90040

Thank you for your interest in the products and services of MCombo.

This Limited Warranty applies to physical goods, and only for physical goods,purchased from 

MCombo.

This Limited Warranty does not cover any problem that is caused by:

Conditions, malfunctions, or damage not resulting from defects in matetial or workmanship.

To obtain warranty service, you can contact us via email sales@mcombo.com Contact us 

to determine the issue and the appropriate solution for you. Before this you can take some 

photos of your product and send them to us, so that we can reply to you more quickly and 

accurately.

What does this limited warranty cover?

This Limited Warranty covers any defects in material or workmanship under normal use during 

the Warranty Period.

During the Warranty Period, MCombo will repair or replace, at no charge, products or parts 

of a product that proves defective because of improper material or workmanship,under normal 

use and maintenance.

How long does the coverage last?

The Warranty Period of Physical Goods purchased from MCombo refers to the table below. 

A replacement Physical Good or part assumes the remaining warranty of the original 

Physical Good or 180 days from the date of replacement or repair, whichever is longer.

VIII. Warranty Disclaimer

Awning Frame

Awning Fabric

★     1 Year

★     6 Months


